Section 10.3 Page 738 (21, 22, 23, 24)
21)

Notice that as 6 goes from —g — 0 that cos@ goes from 0 — 1

Likewise as 6 goes from 0 —> > that cos@ goes from 1 —0

All other values of @ are undefined.

/2 /2
So we have the area A= J %(\/cose) do = J Ecose do=—
—-r/2 —7/2

22) For similar reasons to 21) The interval to integrate on is [_ZZ}

/4 l4

So we have the area A= I %(\/COSZ@) do = '[ l00329 d0— 4

-m/4 77r/4

0] ——[1——1]_1

6" = [1—*1]——

23) As O goes from 0 > & 8sin@ goes from 0 — 8 — 0 completing the circle.

So we have A:J.%(8sin9)2d0:674J.sin29d9: 32]% o =
0 0 0

Sinze}” =16[(z-0)-(0-0)]=16x

16jl—cos29 d0:16[0—
0

24) As O goes from 0 — 27 that 4 +4sinf goes from 4 58 >4 —
cartoid.

So we have
2r

A= J;(4+4sm9 d@ J8+1651n9+831n 0do= J8+1651n9+8

0

j12+16sin9—4cosze d6=[126-16cos6—2sin26]." =

[247-16-0-(0-16-0)|=247

0 — 4 completing the

1—cos26 46 =



